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NI T1ERE N T1RBRBFIEIWPTHH SG
B K £ ouT IN | GROSS| HDCP NET W K 2 ouT IN | GROSS| HDCP NET
* 1 =% #H 42 43 85 22.3 62.7 31 BH IFsE 44 46 90 15.5 14.5
* 2 alll 1'“?'6 38 37 15 10.5 64.5 32 AU 1R 44 42 86 11.3 14.]
* 3 BiE BA 39 39 18 10.8 67.2 33 e B— 45 36 81 6 15
* 4 Il JESE 41 43 84 16 68 34 PRl Ak 45 46 91 16 15
* 5 Bl A 42 40 82 13.7 68.3 %35 gl —Bf 45 41 86 10.8 15.2

6 BIF NE— 45 43 88 19.5 68.5 36 H5K #= 48 47 95 19.8 15.2
7 nE BB 38 39 I 8.2 68.8 37 AAE 45 41 86 9.6 16.4

8 FibEn B 43 43 86 16.6 69.4 38 BE EX 92 44 96 19.4 16.6

9 K EJL 39 36 15 5.4 69.6 39 BEA #x 46 37 83 5.8 11.2
%10 HE FF—H 46 44 90 20 10 40 KH F=E b8 48 106 | 28.5 115

11 = wih 45 40 85 14.6 70.4 41 *RiK ;&H8 48 92 100 | 21.9 18.1

12 Bh fi— 42 43 85 13.9 71.1 42 A EX 45 47 92 13.5 18.5

13 AE F#% 44 38 82 10.8 ]11.2 43 X = 93 46 99 20 79

14 R H= 41 39 80 8.7 711.3 44 mR &’B 49 o4 103 | 23.2 719.8
%15 EH RE 39 38 11 9.5 11.5 %45 ZH & 50 43 93 12.4 80.6

16 Hep @#X 39 42 81 9.1 711.9 46 =% Bk o4 53 107 | 26.3 80.7

17 TH {f3xE 43 39 82 10.1 71.9 47 JE O #5] 95 95 110 | 28.7 81.3

18 ME FEX 42 43 85 13 12 48 XLt ZFpid o1 52 103 | 21.6 81.4

19 MitAE ’ 47 50 97 24.9 12.1 49 A2 B— 47 63 110 | 271 82.9
%20 SH SE 41 42 83 10.8 12.2

21 oE & 41 40 81 8.4 12.6

22 XE B 51 46 97 24.4 12.6

23 gl &— 38 40 18 5.3 12.7

24 LR BEBR 44 43 87 13.9 13.1
%25 HRIFF —% 43 42 85 11.8 13.2

26 JrE =P 46 44 90 16.8 13.2

27 MIJT WA 41 38 19 0.7 13.3

28| /A FA 52 49 101 27.4 13.6

29 #HE f#= 46 44 90 16.3 13.7
w30 EF {E—BB 46 46 92 18.1 73.9 BG Elllﬁf IE,E 39 36 73
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I fi K £ ouT IN |GROSS| HDCP | NET W K £ ouT IN |GROSS| HDCP | NET
* 1 TE Bl 41 40 81 17.8 63.2 31 E FEE 40 47 87 14.2 72.8
%2 £#h =T 39 41 80 | 16.7 63.3 32 - ! 44 48 92 19.2 72.8
%3 WF =ZFX 45 39 84 19.6 64.4 33 BE 1§ 44 52 96 23.2 72.8
> 4 BO 82 44 46 90 24.5 65.5 34 PRI [RF 51 47 98 25.2 72.8
* 5 HE FYF 48 50 98 31.8 66.2 %35 BA JIEF 50 41 91 18 73
6] TFh EF 44 42 86 | 19.7 66.3 36 =R EB 51 45 96 23 73
7 T #§#5 43 45 88 21.6 66.4 37 Kix = 45 40 85 11.9 73.1
8] Z5F HRAF 38 37 15 8.5 66.5 38 2 o 46 43 89 15.9 73.1
9 =% F8l 43 38 81 14.2 66.8 39 M FEER 47 46 93 19.9 73.1
*10 AF U 45 49 94 27.2 66.8 *40 FE FHE 43 41 84 10.5 73.5
11| F ZBEF 41 39 80 | 13.1 66.9 41 B OEE 48 51 99 25.3 73.7
12 Ak FEkf 45 43 88 20.7 67.3 42| WA E=&F 53 50 103 29 74
13] &5t ERX 45 46 91 23.7 67.3 43 28 BiE 41 43 84 9.3 74.7
14 WTF A& 43 41 84 | 16.3 67.7 44 # I[E= 46 41 87 11.8 75.2
*15| &0 EAa) 42 41 83 | 15.2 67.8 *45 JEHR % 44 44 88 11.7 76.3
16| #mHE Fwd 40 45 85 | 17.1 67.9 46 il &= 49 52 101 | 24.2 76.8
17 BEx FiE 43 42 85 | 16.1 68.9 47| uzt BHE 49 45 94 16.3 77.7
18 A Jiiﬁ& 45 42 87 17.9 69.1 48 %A B3k 53 49 102 24 78
19 BH =& 45 44 89 | 19.7 69.3 49| /NI EB 52 49 101 | 224 78.6
%20 =H X 39 43 82 12.6 69.4 %50 mRE FER 55 49 104 25 79
21 ARHE #H 40 41 81 11.2 69.8 51 WE B 62 58 120 | 40.9 79.1
22| F/K 2th 42 46 88 18 70 52 AE = 51 54 105 | 23.7 81.3
23 HE AKX 41 38 19 8.8 70.2 53 =K B 53 53 106 24.3 81.7
24f =H =B 42 40 82 | 11.7 70.3 54| HiIF EiE 47 47 94 12.2 81.8
%25 SH E=E 45 47 92 | 21.2 70.8 55| 4L BE— 46 48 94 11.9 82.1
26| skH =ER 43 42 85 | 13.9 71.1 56| HE E—ER 51 51 102 | 16.3 85.7
27| ®=H BBBxX 41 45 86 | 145 71.5
28 2H AB 44 45 89 16.5 12.5
29 INE FE o7 46 103 | 30.3 12.7 —— -
%30 F@ —% | 45 | 41 | 86 | 132 728 | |[BA|ZSF #AF 38 | 3/ | /o | - -




